Name: Date:

Teacher: Class:

Division 302

What goes Tick-tick, woof-woof? A watch dog.

Divide these numbers. HOW MANY?
Example: How many 3's go into 67

1. §+3= 18 24 +3= % 12+3=
2. 21+3= 190 30+3= 3. 27 +3=
3 15+3= 20 18+3= 3 3+3=
4 9+3= 2l. §+3 = 3. 24 +3=
5 27+3= 2. 18+ 3= ¥ 3+3=
6. 21 +3= 23. §+3= 40. 15+ 3 =
. 30+3= 24 12+3= “-21+3=
8 27+3= > 9+3= 4. 18+ 3=
9. 24 +3= 26. 12+ 3= 3. 3:3=
10. 21 + 3= 21. 6+ 3= 4. 15+3 =
1. 9+3= 28. 27 +3 = % 3+3=
12. 30+ 3 = 29. 18 +3 = 4. 27 +3=
13. 94+ 73 = 30. 12 +3= a7 12 +3 =
4. 3:3= 31. 27 -3 = 8. 9+3=
15, 27 + 3 = 2. g+3= 49 15+3=
6. §+3 = 33. 21 +3= 0. 3=
17. g+ 3= 4. 21+3=
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What goes Tick-tick, woof-woof? A watch dog.

Divide these numbers. HOW MANY?
Example: How many 3's go into 67

L 6+3=2 8. 24+3=38 # 12+3=4
2..21+3=7 19 30+3=10 *27+3=9
% 15+3=5 0. 18+3=6 .3+3=1
4 9+3=3 2. §+3=2 38 24+3=8
5 27+3=9 2. 18+3=6 ¥ 3+3=1
6 21+3=7 3. 6+3=2 90.15+3=5
7 30+3=10 2. 12+3=4 “. 21+3=7
8 927+3=9 5. 9+3=3 4. 18+3=6
9. 24-3=28 26. 12+3=4 B 3+3=1
0. 21 +-3=7 2. §+3=2 4. 15+3=5
1. 9+3=3 8. 27+3=9 > 3+3=1
122 30-3=10 29. 18+3=6 4. 27+3=9
13. 24+3=8 0. 12+3=4 47. 12 +3=4
4. 3+3=1 3. 27+3=9 ® 9+3=3
15, 27 -3=0 2. +3=2 9. 15+3=5
6. 6+3=2 8. 21+3=7 X 6+3=2
7. 9+3=3 4. 21+3=7
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